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LINKED	
  GENES	
  SCENARIOS	
  
 

INTRODUCTION:	
  
	
  
The	
   positions	
   of	
   three	
   genes	
   on	
   chromosomes	
   are	
   unknown.	
   	
   You	
   are	
   given	
   two	
   pure	
  
breeding	
  (homozygous)	
   lines	
  and	
  an	
   initial	
  cross	
  of	
  a	
  DDEEFF	
  male	
  with	
  a	
  ddeeff	
   female.	
  	
  
Describe	
   the	
   appropriate	
   genetic	
   experiments	
   needed	
   to	
   establish	
  whether	
   any	
   of	
   these	
  
traits	
  are:	
  
	
  
	
   a.	
   autosomal	
  or	
  sex-­‐linked	
  
	
  
	
  
	
  
	
  
	
   b.	
   linked	
  on	
  the	
  same	
  chromosome	
  or	
  unlinked	
  
	
  
	
  
	
  
	
  
BACKGROUND	
  INFORMATION:	
  
	
  
Consider	
  an	
  F1	
  generation	
  as	
  follows:	
  
	
  
	
   •	
   male	
  =	
  AaBb	
  
	
   •	
   female	
  =	
  AaBb	
  	
  	
  
	
  

	
   AB	
   Ab	
   aB	
   ab	
  

AB	
   	
   	
   	
   	
  

Ab	
   	
   	
   	
   	
  

aB	
   	
   	
   	
   	
  

ab	
   	
   	
   	
   	
  

	
  
SCENARIO	
  ONE:	
  
	
  
A	
  geneticist	
  determined	
  the	
  phenotypes	
  of	
  the	
  fruit	
  flies	
  as	
  follows:	
  
	
  
	
   •	
   DD	
  =	
  856	
  
	
   •	
   DR	
  =	
  283	
  
	
   •	
   RD	
  =	
  266	
  
	
   •	
   RR	
  =	
  95	
  



1.	
   Calculate	
  the	
  ratio	
  of	
  phenotypes.	
  
	
  
	
  
2.	
   Perform	
  a	
  chi	
  square	
  analysis	
  on	
  the	
  data:	
  
	
  

	
   o	
   e	
   o-­‐e	
   (o-­‐e)2/e	
  

DD	
   	
   	
   	
   	
  

DR	
   	
   	
   	
   	
  

RD	
   	
   	
   	
   	
  

RR	
   	
   	
   	
   	
  

 Σ(o-­‐e)2/e	
   	
  

	
  
3.	
   Null	
  Hypothesis:	
  
	
  
	
  
4.	
   #	
  of	
  Degrees	
  of	
  Freedom:	
  
	
  
	
  
5.	
   Critical	
  Value	
  for	
  95%	
  Probability:	
  
	
  
	
  
6.	
   Do	
  you	
  accept	
  or	
  reject	
  your	
  null	
  hypothesis?	
  	
  Explain.	
  
	
  
	
  
	
  
7.	
   Provide	
  an	
  analysis	
  of	
  your	
  answer	
  to	
  the	
  previous	
  question.	
  	
  In	
  other	
  words,	
  what	
  

does	
  the	
  chi	
  square	
  analysis	
  result	
  tell	
  you	
  about	
  the	
  genes	
  for	
  A-­‐a	
  and	
  B-­‐b?	
  
	
  
	
  
	
  
	
  
SCENARIO	
  TWO:	
  
	
  
A	
  geneticist	
  determined	
  the	
  phenotypes	
  of	
  the	
  fruit	
  flies	
  as	
  follows:	
  
	
  
	
   •	
   DD	
  =	
  665	
  
	
   •	
   DR	
  =	
  85	
  
	
   •	
   RD	
  =	
  79	
  
	
   •	
   RR	
  =	
  671	
  
	
  
1.	
   Calculate	
  the	
  ratio	
  of	
  phenotypes.	
  



2.	
   Perform	
  a	
  chi	
  square	
  analysis	
  on	
  the	
  data:	
  
	
  

	
   o	
   e	
   o-­‐e	
   (o-­‐e)2/e	
  

DD	
   	
   	
   	
   	
  

DR	
   	
   	
   	
   	
  

RD	
   	
   	
   	
   	
  

RR	
   	
   	
   	
   	
  

 Σ(o-­‐e)2/e	
   	
  

	
  
3.	
   Null	
  Hypothesis:	
  
	
  
	
  
4.	
   #	
  of	
  Degrees	
  of	
  Freedom:	
  
	
  
	
  
5.	
   Critical	
  Value	
  for	
  95%	
  Probability:	
  
	
  
	
  
6.	
   Do	
  you	
  accept	
  or	
  reject	
  your	
  null	
  hypothesis?	
  	
  Explain.	
  
	
  
	
  
	
  
7.	
   Provide	
  an	
  analysis	
  of	
  your	
  answer	
  to	
  the	
  previous	
  question.	
  	
  In	
  other	
  words,	
  what	
  

does	
  the	
  chi	
  square	
  analysis	
  result	
  tell	
  you	
  about	
  the	
  genes	
  for	
  A-­‐a	
  and	
  B-­‐b?	
  
	
  
	
  
	
  
	
  
SUMMARY:	
  
	
  
1.	
   Which	
  of	
  the	
  two	
  scenarios	
  involved	
  linked	
  genes?	
  
	
  
	
  
2.	
   For	
  the	
  scenario	
  involving	
  linked	
  genes,	
  identify	
  the	
  following:	
  
	
  
	
   a.	
   Which	
  two	
  phenotypes	
  are	
  the	
  parental	
  phenotypes?	
  
	
  
	
  
	
   b.	
   Which	
  two	
  phenotypes	
  are	
  the	
  recombinant	
  phenotypes?	
  
	
   	
  



	
   c.	
   Determine	
  the	
  %	
  recombination.	
  
	
  
	
  
	
  
	
   d.	
   How	
  far	
  apart	
  are	
  the	
  genes	
  on	
  the	
  chromosome?	
  
	
  
	
  
	
  
	
   e.	
   Using	
  a	
  ruler,	
  draw	
  a	
  model	
  of	
  the	
  chromosome	
  showing	
  the	
  relative	
  location	
  

of	
  both	
  genes.	
  	
  For	
  scale,	
  let	
  1	
  cm	
  =	
  1	
  centimorgan.	
  
	
  
	
  
	
  
	
  
	
  



	
  


